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&0y sflusar oS sow. Coin 5SS PSS , -
Note : 1) Answer all the questions. 2) Choose the best answer.’ _ (7x1=7)

1. Spsem_supdled Blup_esflein ewemmpmin 634 e LwsTLGEDSI?
) @mm@samuﬂg@mmm Qun@%?]snm )%m&g@msuuﬁl sen Gluman sl
§ rr) gwblenpwster GlunmLsefled LB
wton S t 1rd?‘bw is apphcable
‘a) fora bodg at rest . ty‘for a body in motlon
)

c) both a & only for bodies with equal masses
2.  mefenr geungsen eflSullen é{lq.l.lLle')L _
) i eresm ) v Heop
) nGLmSew BHleom - é% @Qn_mrarﬂm asmmﬂaamas
e basis of modern periodic law is
a) atomic number b) atomic mass
E%] ;E]otoplc mass 2 . Qd number of neutrons
3. €I MLIENLDE 61 (§EODUNL_EDL& & &uJu_n :
) @aﬁ] Qmmf bl - L.E?Qs\)m&
g ™ @aﬁ'lu.! Qlevetrs:
eye f‘bfect presbyo ia’ can be corrected b .
convex lens ) concave lens gconvex mlrror d) Bi focal lenses
4. lapsassmm_sum 61T 6T PLPEUGD) PPEVETa MI?
21) GEpsta £ | s,g) aeSlwd
%asmrum am_ 23,5606 QDL T268T
Which of the followung is a triatomic molecule? .
a) Glucose b) Helium ¢) Carbon dioxide d) Hydrogen
5.  enseopd LGemmwpd @Gr o758 HmamEs yemink gl sremiLbHiag]
srsanu@Lo
) éi’ﬂ’l_l LIT&(E) jemioLiL Sb) HFEILD (SLD- QUNEN(GEONT SDHEDM
g QenlenewTh . m) Baupflev argiayfleveneo
The lem and pﬁloem arranged side by side on same radlus is called
a) radial b) amphivasal C) conJomt d) None of these
6. ool ullem o L HESETIIL_MIGET Beucurmi ampmuu@ 63T 6T
) QoL L_mBwnsst (Gerenw_(Hi&sen) ) YGrrfermiq Hiasen
§' s Crmileor é% Demeu iemer S D
The segments of leech are known as o o
a) metameres ~_ b) proglottids (o) stroblla d) all the above
7. B awsSen seu a1g5emMed oY eTHI? '
L&iguy _ ) snﬂamn.q.tum
mm@mn&nn wib af Cuneaflwene gemenSSid

e wall of human heart is made of
a) Endocardium b) Epicardium c) Myocardium = - d) All of the above
- ugf -2 [ PART - II
ﬂuq srewaICuigyid g5 5sG el waflés. (s Lnw afamr-15) '
Note: Answer any Five from the following. Question No.15 is compulsory. (5x2=1 0)
8. sflur? gaupr? saigy aefled u{gﬁm ImSHs.
: LTy Blg ear_s5486 gaflilen Sens UBLONETIGI, -6y &OD :zm_aag,@e\)
mLums el gflswrs B meEi
True or False. If false correct it.
Velocity of light is greater in denser medium than in rarer medium
9. ?%l_l_wm Breto_nbd elfullenen s1(pgis.
tate Newton's second law.

10. ] 6O ~ EUEMITIL
- ge#!gﬂ ?thg atomlg n‘imass? o “
IR 115 65)& 6168TM M6V GT6UT6UT F6065160 6T (1.1 ;
' \7?Ihat is photosynth%sm and whé@egljn a cetl does |t@ og’cur'? umﬂmﬂ?
12, Qar@s&stul L UL Sms »
Bar@n cuenynh gl Lnahsane G,
Draw the diagram again
and label the parts.

13, s L 16 snamriiu L (Demenfl saeiemliLsamenT 615 =
T L:st out the parasitic a apt?tlons in leec% ot S (10*6@‘“‘“‘1) :
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14. GQuimsgs. 1) Apfemmevieufl - g) Bemev LRy
. ‘ o 2) BrrellGurs@ - ) WenmmenGun G evGuol L
: 3) yswomendlen “ ﬁs e SIWIETEN SPSHD
bt L 4) %&Jﬁ @g{gm_ - ) afley ?;@gg, eumL_L b
Malch the following -1 ¢g‘ymp astic pathway - Leaf _
2) Transpiration . - Plasmodesmata
3) Osmosis : - ‘Pressure in xylem
4) Root pressure . - Pressure gradient

15, 100ls.5 @eilwsosnemeay Qaneim. @al0leendledlmb g 206115 Qsreneassd
Glun@Qenrer gy encudatiLBGEDS crafleo Wibub Canenpib S_smswb aigen
SEMEMOEHWIL|D &6vTL 15, ‘ ‘ : i
An object is placed at a distance 20cm from a convex lens of focal length 10cm.
Find the image distance and nature of the image.

‘ . ugs® - 3 / PART - III

o0y soaCugyw apaipayse oo wallés. alam aewr 20 &' runons afsor wellssayo.

Note: Answer any Three from the following. Question No.20 is compulsory.(3x4=12)

18. 1) Curs@eangsis swems eles@a Seuiy Hpsse gembssiLBeose

STITETVTLD 616616017
2) @allklevsits: HmIb @ flQlevens - CoupiLB &85
ag |f19/ are traffic ggn‘a% red in colour? - :
b) Differentiate convex lens and concave lens.

17. 1) @@mellenzuieneos sreurs senmgenm aunev et sheppule samiolinL Ll
i ET(LD SIS - 2) &euns FLa 616TMNEV 61631607 ;
ag Give an account on vascular bundle of dicot stem. -
b) What is respiratory quotient? T :
18. - 1) apwellen seunss Gl @msOsMIDL uememuRIST STewT LGS g6oT?
- 2) pwedletr Liveoemioey 676 Glamt_ g GrmLrem_ (Geumyu L) Lisvevsmioa] sremiuhHmg?
- a; Why are the rings of cartilages found in trachea of rabbit?
- b) Why is the teeth of rabbit called heterodont? ‘
19. 1) wetlgraefien snGpm_Lwrerg Gl evé &HCHILLID eTem
2masLILGE D S| 6617
2) v@vﬁw 2601861 616TTMNED T6MTEu?
a

6HE 6TEUGUN M| 2 (heurdleormen?
g y is the circulation in man referred to as double circulation?
b) What are heart sounds? How are they produced?
20. 1) guGursflwureled e_crer eopl_rzmsflen eg6ls Qemwenuis s _ifs.
2) ?mnd)&erf]e‘cr sismenflsenssmws ser_fs. g)) 2.78 gBleflund
~ a) Find the percentage of nitrogen in ammonia.
b) Calculate the number of moles in i) 2.7g of Al
2 u@S - 4-/ PART - IV (3x7=21)
@y: geas g efemalne b alson_wallss. Comamnar §i_rsaflé) L aimys.
Note. i) Answer all the questions. ii) Draw the diagram wherever necessary.
21. 1) &) 265 wipré Can_ur_ e s oisemen Quiinlss. (5) ‘
‘ \2b) Bit_eoLulelr AL Apein aumpugy. (2) - (ydengy)
i) @) peaflullen G eI P HhEI LTSNS Snmis. (5) :
) Ggl‘.ﬂ EIHLIEMLDEY S SM6EUT ET6HTMTED 6T6TT6TT? (22 _
i)gz'State and prove the law of conservation of linear momentum. (5)
) Define moment of a couple. (2 : (OR)
i) a) List any five properties of light.(5) ‘ ‘
b) What is power of accommodation of eye? (2)

220 ) melen S anstenaulsn CanLrbsemen siipsis.(7 V)
k. il))!:;) éﬂ@]@?_me\)uﬂg} a_@&é]ulﬁhﬂ%sﬁmm aﬁlmﬁgi()gl) ) i ad
. 3p) Dby BB 5560566 SRS ENENT &(Ha,(2) . :
i) éli’ve tr% salien(rfr?features of “ModernﬂDAtomic Theory”.(%@ =) (OR)

i) ag Explain smelting process, (5)
‘ . . D) State two conditions necessary for rusting of iron. (2) .
23, 1) &) smdm seundlsen Clesoaeuns &8lenGurg) ereueun my GEnsGaTalleNmEs
- SpDDmeOL Oumileinmen? Iﬂ?m&nqm e n g flemevsenen s1ipd eleufdaman.(5)
o) Peeolen_gdls ( an&m)'upﬁj @,;auq m@ga;(g (Al :
febifi Lo (AR |
i) o) Buprredlen giemwtienu UL S &I 6o efleuf.(5) ;
‘ )Lé%r s5dlen Cpenib 2 usllaenent UL 1 wiefiHs. (2) ; ‘
,;)_aﬁﬁescr be and name three stages of cellular respiration that aerobic-
organisms use to obtain energy from glucose.(5) _
'b) Write a short note on mesophyll. fz) (OR)
_ii) a) With a neat labelled diagram explain the structure of a neuron. (5)

b) Enumerate any 2 functions of blood. (2)
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